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bmJV boIm§H$Z  

COST ACCOUNTING 

 
{ZYm©[aV g_` : 3 KÊQ>o   A{YH$V_ A§H$ : 60 

Time allowed : 3 hours Maximum Marks : 60 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 11 h¢ & 

 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| 28 àíZ h¢ & 

 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 
_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 11 printed pages. 

 Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 28 questions. 

 Please write down the Serial Number of the question before 

attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question paper only and will not write any answer on 

the answer-book during this period. 

SET-4 

305 

Downloaded From :http://cbseportal.com/

Downloaded From :http://cbseportal.com/ Courtesy : CBSE

http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/


305 2 

gm_mÝ` {ZX}e : 

àíZ g§. 1 go 10 VH$ ~hþ{dH$ënr àíZ h¢ & {XE JE {dH$ënm| _| go EH$ ghr {dH$ën H$mo Mw{ZE Am¡a 
CgH$mo AnZr CÎma-nwpñVH$m _| {b{IE &  

General Instructions : 

Questions No. 1 to 10 are Multiple Choice Questions. Choose the correct option 

out of the given options and write the same in your answer-sheet. 

1. H¢$Q>rZ Ho$ {bE g~go Cn`wº$ bmJV {d{Y h¡  1 

(A) n[aMmbZ bmJV {d{Y  

(~) R>oH$m bmJV {d{Y  

(g) g_yh bmJV {d{Y 

(X) à{H«$`m bmJV {d{Y 

The best method of costing for a Canteen is 

(a) Operating costing 

(b) Contract costing 

(c) Batch costing 

(d) Process costing 

2. n[aMmbZ bmJV {d{Y H$s {deofVm h¡  1 

(A) {H$`m OmZo dmbm H$m`© bå~r Ad{Y H$m hmoVm h¡  

(~) H$m`© H$s {d{eîQ> àH¥${V  

(g) bmJV H$m ñWm`r Am¡a n[adV©Zerb _| dJuH$aU   

(X) BZ_| go g^r   

The feature of operating costing is 

(a) Work undertaken is of long duration 

(b) Unique nature of work 

(c) Classification of costs into fixed and variable 

(d) All of these 
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3. n[adhZ bmJV {d{Y H$s BH$mB© hmo gH$Vr h¡   1 

(A) {Šd§Q>b {H$_r 

(~) `mÌr {H$_r 

(g) {H$bmo_rQ>a  

(X) BZ_| go g^r 

The unit of transport costing can be 

(a) Quintal km 

(b) Passenger km 

(c) Kilometre 

(d) All of these 

4. BH$mB© bmJV {d{Y Cn`wº$ h¡  1 

(A) AñnVmbm| Ho$ {bE  

(~) Q>obr{dOZ g§KQ>H$m| Ho$ {Z_m©U Ho$ {bE 

(g) nwb ~ZmZo Ho$ {bE  

(X) gr_|Q> CÚmoJ Ho$ {bE 

Single costing is suitable for  

(a) Hospitals 

(b) Manufacturing television components 

(c) Bridge building 

(d) Cement industry 

5. Ohm± EH$g_mZ dñVwAm| H$m CËnmXZ {ZaÝVa MbVm ahVm h¡, dhm± g~go Cn`wº$ bmJV {d{Y 
h¡ 1 

(A) g_yh bmJV {d{Y 

(~) BH$mB© (`m AmCQ>nwQ>) bmJV {d{Y 

(g) R>oH$m bmJV {d{Y 

(X) CnH$m`© bmJV {d{Y 
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Where the same product is continuously produced, the most suitable 

method of costing is  

(a) Batch costing 

(b) Unit or output costing 

(c) Contract costing 

(d) Job costing 

6. EH$ R>oHo$ H$s bmJV {ZYm©[aV H$s OmVr h¡  1 

(A) bmJV {ddaU ~ZmH$a  

(~) VwbZ-nÌ ~ZmH$a 

(g) n¥WH²$ ImVm ~ZmH$a  

(X) bm^-hm{Z ImVm ~ZmH$a  

The cost of a contract is determined by preparing 

(a) Cost Sheet 

(b) Balance Sheet 

(c) Separate Account 

(d) Profit & Loss Account 

7. gm_mÝ` à{H«$`m hm{Z H$m Ad{eîQ> _yë`  1 

(A) à{H«$`m ImVo _| S>o{~Q> H$aZm Mm{hE  

(~) à{H«$`m ImVo _| H«o${S>Q> H$aZm Mm{hE 

(g) bm^-hm{Z ImVo _| S>o{~Q> H$aZm Mm{hE 

(X) bm^-hm{Z ImVo _| H«o${S>Q> H$aZm Mm{hE 

Scrap value of normal loss should be 

(a) Debited to Process Account 

(b) Credited to Process Account 

(c) Debited to Profit & Loss Account 

(d) Credited to Profit & Loss Account 
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8. Vob [a\$mBZar _| à`wº$ bmJV {d{Y h¡  1 

(A) CnH$m`© bmJV {d{Y 

(~) à{H«$`m bmJV {d{Y 

(g) R>oH$m bmJV {d{Y 

(X) g_yh bmJV {d{Y 

The method of costing used in an oil refinery is 

(a) Job costing  

(b) Process costing 

(c) Contract costing 

(d) Batch costing 

9. Eogm CËnmX Omo _w»` dñVw Ho$ {Z_m©U Ho$ Xm¡amZ ñdV: hr CËnm{XV hmo OmVm h¡, H$hbmVm h¡  1 

(A) Jm¡U CËnmX  

(~) gh CËnmX 

(g) H$~m‹S> (Adeof) 

(X) BZ_| go H$moB© Zht  

The product that is produced incidentally in the course of processing the 

main product is called  

(a) By-product 

(b) Joint product 

(c) Scrap 

(d) None of these 

10. {dÎmr` bmJV Am¡a bmJV boIm| H$m {_bmZ BgH$mo ~ZmH$a {H$`m OmVm h¡  1 

(A) bm^-hm{Z ImVm 

(~) eof narjU (Q´>m`b ~¡b§og) 

(g) ñ_aU-nÌ g_mYmZ ImVm  

(X) VwbZ-nÌ  
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Reconciliation of financial and cost books is done by preparing 

(a) Profit & Loss Account 

(b) Trial Balance 

(c) Memorandum Reconciliation Account 

(d) Balance Sheet 

11. g_yh bmJV {d{Y H$s H$moB© Xmo {deofVmE± ~VmBE &  2 

Mention any two features of batch costing. 

12. {ZåZ{b{IV CÚmoJm| H$s bmJV BH$mB© ~VmBE :  2 

(A) BªQ>m| H$m ^Å>m  

(~) AmQ>m {_b  

(g) H$mµJµO CÚmoJ  

(X) H$n‹S>m {_b  

State the cost unit of the following industries : 

(a) Brick manufacturing unit  

(b) Flour mill 

(c) Paper industry 

(d) Textile mill 

13. gh CËnmX Š`m h¡ ? Xmo CXmhaU Xr{OE &  2 

What is joint product ? Give two examples. 

14. Vwë` CËnmXZ go Amn Š`m g_PV o h¢ ?  2 

What do you understand by equivalent production ? 

15. R>oH$m bmJV {d{Y _| AZamoYZ (à{VYmaU) am{e ([aQ>|eZ _Zr) Š`m h¡ ?  2 

What is the retention money in contract costing ? 
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16. {H$Ýht Mma CÚmoJm|/CËnmXm| Ho$ Zm_ ~VmBE {OZHo$ {bE R>oH$m bmJV {d{Y AnZmB© OmVr h¡ & 2 

Name any four industries/products for which contract costing is adopted. 

17. {dÎmr` Am¡a bmJV ImVm| Ho$ {_bmZ go Š`m bm^ h¢ ?  2 

What is the advantage of reconciling financial and cost books ? 

18. {H$Ýht Mma _Xm| Ho$ Zm_ ~VmBE Omo {dÎmr` boIm| _| Xem©E OmVo h¢ naÝVw bmJV boIm| _|  

Zht & 2 

Name any four items which are shown in financial books but not in cost 

books. 

19. n[aMmbZ bmJV {d{Y H$mo n[a^m{fV H$s{OE &  2 

Define operating costing. 

20. ñWm`r IMm] go Amn Š`m g_PVo h¢ ? Xmo CXmhaU Xr{OE &  2 

What do you understand by standing charges ? Give two examples. 

21. 500 Q>Z H$ƒo _mb H$m Cn`moJ Eogo CËnmX H$mo ~ZmZo Ho$ {bE {H$`m J`m Omo Xmo à{H«$`mAm| 

go JwµOaVm h¡ & à{H«$`m A H$s bmJV {ZåZ h¡ : 

 gm_J«r < 10,000 

 _µOXÿar  < 5,000 

 AÝ` ì`` < 2,000 

 10% gm_J«r H$m j` hþAm Omo gm_mÝ` h¡ & CgH$s aÔr go < 300 àmßV hþE & Amn à{H«$`m 

A H$m ImVm ~ZmBE &  3 

500 tonnes of raw materials were used to produce a product which passes 

through two processes. The cost of Process A is as follows : 

 Material < 10,000 

 Labour < 5,000 

 Other expenses < 2,000 

10% of the material is wasted which is normal. Its scrap realised < 300. 

You are required to prepare Process A Account.   
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22. H$moQ>oeZ Š`m h¡ ? BgH$mo ~ZmZo H$m AmYma Š`m hmoVm h¡ ?  3 

What is a quotation ? What is the basis for its preparation ? 

23. CËnmXZ ImVo go Š`m VmËn`© h¡ ? EH$ CËnmXZ ImVo H$m Z_yZm ~ZmBE &  3 

What is meant by production account ? Prepare a specimen of a 

production account.  

24. Am{W©H$ g_yh _mÌm Š`m h¡ ? Bgo H¡$go {ZH$mbVo h¢ ?  3 

What is economic batch quantity ? How is it calculated ? 

25. EH$ Q´>H$ 10 Q>Z _mb boH$a ñQ>oeZ P go MbVm h¡ & dh 4 Q>Z _mb ñQ>oeZ Q na CVmaVm h¡ 

Am¡a ~mH$s H$mo ñQ>oeZ R na & ñQ>oeZ R na 8 Q>Z _mb nwZ: ^a H$a dh grYm ñQ>oeZ P na 

dmng nhþ±M OmVm h¡ & P go Q H$s Xÿar, Q go R Am¡a R go P H$s Xÿar H«$_e: 40 {H$_r,  
60 {H$_r Am¡a 80 {H$_r h¢ & {Zanoj Q>Z {H$_r Am¡a H$m°_{e©`b Q>Z {H$_r {ZH$m{bE & 3 

A truck starts with a load of 10 tonnes of goods from station P. It unloads 

4 tonnes at station Q and the rest of the goods at station R. It reaches 

back directly to station P after getting reloaded with 8 tonnes of goods at 

station R. The distances between P to Q, Q to R and from R to P are  

40 km, 60 km and 80 km respectively. Compute absolute tonne km and 

commercial tonne km.   

26. {ZåZ{b{IV gyMZmAm| Ho$ AmYma na g_mYmZ {ddaU Am¡a ñ_aU-nÌ g_mYmZ boIm  

~ZmBE & 5 

 < 

bmJV boImZwgma bm^   10,000 

{dÎmr` boImZwgma bm^  10,300 

bmJV boIm _| \¡$ŠQ>ar Cn[aì`` H$_ bJm`m J`m       500 

bm^m§e {_bm    1,000 

ñd`§ Ho$ ^dZ Ho$ {bE bmJV boIm| _| Xem©`m J`m {H$am`m       300 

ny±Or na {X`m J`m ã`mO Omo {dÎmr` ImVm| _| em{_b h¡       500 
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From the following figures, prepare a Reconciliation Statement and a 

Memorandum Reconciliation Account. 

 < 

Profit as per Cost Accounts  10,000 

Profit as per Financial Accounts 10,300 

Works overhead under-recovered in Cost Accounts      500 

Dividend received   1,000 

Rent paid for owned building in Cost Accounts      300 

Interest on capital paid included in Financial Accounts      500 

 

27. EH$ R>oHo$Xma Zo 1 OZdar H$mo < 5,00,000 _| EH$ R>oH$m {b`m Am¡a Cg df© 31 {Xgå~a VH$ 

Cg R>oHoo$ na {ZåZ{b{IV ì`` {H$E :  

 gm_J«r < 1,00,000, _µOXÿar < 1,35,500, g§`§Ì < 18,000, Cn[aì`` < 7,500 &  
31 {Xgå~a VH$ R>oH$mXmVm go < 2,00,000 àmßV hþE Omo à_m{UV H$m`© H$m 

5

4
 h¡ &  

31 {Xgå~a H$mo hñVñW gm_J«r < 9,500 H$s Wr VWm g§`§Ì na 10% _yë`õmg H$m AZw_mZ 

{H$`m J`m &  
 R>oH$m boIm V¡`ma H$s{OE Am¡a ~VmBE {H$ bm^ H$m H$m¡Z-gm ^mJ bm^-hm{Z boIo _| C{MV 

ê$n go AÝV[aV {H$`m OmZm Mm{hE & 5 

On 1st January, a contractor obtained a contract for < 5,00,000 and 

incurred the following expenses on the contract till 31st December that 

year : 

Material < 1,00,000, Wages < 1,35,500, Plant < 18,000, Overheads   

< 7,500. Till 31st December, he received from the contractee < 2,00,000 

which is 
5

4 th of the work certified. On 31st December, the material in 

hand was < 9,500 and depreciation on plant was estimated 10%.  

Prepare the Contract Account and state what portion of the profit should 

reasonably be transferred to Profit and Loss Account. 
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28. CnH$m`© g§»`m 303 Ho$ gå~ÝY _| EH$ B§Or{Z`[a¨J dŠg© Ho$ bmJV boIm| go {ZåZ{b{IV 

gyMZm àmßV hþB© :  

gm_J«r    < 4,010 

_µOXÿar   

{d^mJ A  – 60 K§Q>o < 13 à{V K§Q>o H$s Xa go  

{d^mJ ~  – 40 K§Q>o < 12 à{V K§Q>o H$s Xa go 

{d^mJ g  – 20 K§Q>o < 15 à{V K§Q>o H$s Xa go 

 BZ VrZm| {d^mJm| Ho$ Cn[aì``m| H$m {ZåZmZwgma AZw_mZ bJm`m J`m :  

 n[adV©Zerb Cn[aì``  

{d^mJ A  – < 6,000, 6000 _µOXÿa K§Q>m| Ho$ {bE   

{d^mJ ~  – < 8,000, 4000 _µOXÿa K§Q>m| Ho$ {bE 

{d^mJ g  – < 4,000, 1000 _µOXÿa K§Q>m| Ho$ {bE 

 ñWm`r Cn[aì``  
 < 40,000, 20,000 gm_mÝ` H$m_ H$aZo Ho$ K§Q>m| Ho$ {bE & 

  

 CnH$m`© g§»`m 303 H$s bmJV kmV H$s{OE VWm {dH«$` _yë` na 25% bm^ boVo hþE MmO© 
{H$`m OmZo dmbm _yë` ^r {ZH$m{bE &  

AWdm 

 CnH$m`© bmJV {d{Y go Amn Š`m g_PVo h¢ ? `h R>oH$m bmJV {d{Y go {H$g àH$ma {^Þ  

h¡ ? {H$Ýht Xmo CÚmoJm| Ho$ Zm_ ~VmBE Ohm± `h bmJV {d{Y AnZmB© OmVr h¡ &  5 
Following information has been extracted from costing records of an 

engineering works in respect of Job no. 303 : 

Materials  < 4,010 

Wages  

Department A  – 60 hours @ < 13 per hour 

Department B – 40 hours @ < 12 per hour 

Department C – 20 hours @ < 15 per hour 
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Overhead expenses for these three departments were estimated as 

follows : 

Variable overheads 

Department A  – < 6,000 for 6000 labour hours 

Department B  – < 8,000 for 4000 labour hours 

Department C  – < 4,000 for 1000 labour hours 

Fixed overhead 

< 40,000 for 20,000 normal working hours.  

You are required to calculate the cost of Job no. 303 and calculate the 

price to be charged so as to give a profit of 25% on selling price.  

OR 

What do you understand by job costing ? How is it different from contract 

costing ? Name any two industries where this type of costing is followed.  

200 
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